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Ji: Calculate the turnout rate based on the voting age population or VAP.
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JEXZ: subtract the number of overseas ballots counted from the total ballots in 2008
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]R3 : number of births to women of age [z, z + )
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J]iX: What does the pattern of these AFSRs say about reproduction among Sweden and Kenya?
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JFsZ: Using study 1 and wave 2, compare outcomes from the treatment “same-sex marriage script
by gay canvasser’ to ‘recycling script by gay canvasser.” Repeat the same for straight canvassers,
comparing the treatment “same-sex marriage script by straight canvasser” to “recycling script by

straight canvasser.”
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J]iX: The result variable is a 10-category factor variable describing the result of each assassination

attempt.
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JF: Investigate whether the average polity score over three years prior to an assassination attempt

differs on average between successful and failed attempts.
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JFiX: Repeat the previous question using study 2 and comparing all waves within the control group.
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B 2012CCAP B2 HE T, #IAWT5 1 Y wave-1 BEZIFFINIG 2 Y wave-1 1P
;i3 Create a histogram of the 2012 CCAP feeling thermometer, the wave-1 feeling thermometer from

study 1, and the wave-1 feeling thermometer from study 2.
B1E: A0 2012CCAP B2 1FE5y, 5T 1 1Y wave-1 B2 R FIIFF 2 A wave-1 JESZIESHY
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JFi3Z: One problem with using the proportion of votes that agree with the United States or Russia as a
measure of state preferences is that the ideological positions, and consequently the voting patterns, of
the two countries might themselves have changed over time.['**] Investigate this issue by plotting the

evolution of the two countries’ ideal points over time.
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JFSZ: Focus on the most recently available UN data from 2012 and plot each post-Soviet Union state’
s ideal point against the proportion of its votes that agree with the United States.
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JFi3Z: Compute the average treatment effect of the CCT program using a linear regression with the
average poverty index, the log-transformed precinct population, and the previous official election out-
come variables (£1994r for the previous turnout; pril994v, pan1994v, and prd1994v for the previous
PRI, PAN, and PRD vote shares).

BIE: (EFR TR, 2L REE B XIS AN 2 BB 77 128 45 SR B THIZR
PEEATE CCT IR T RN



